EXAMPLE 13.9

ORIGIN := 1
MWW
82.98 129.7 -1
AHf:: 0 AGf:: 0 a:=|-3
-123.2 31.78 1
-60.711 6.267 —5.795
a:=| 27.004 b:=|0119 |10 * So= | —0.241 104
-63.733 6.444 -2.633
2.799 —5.493
d:=| 0215 [-107 7 e:=| 0615 |10 11
M
-0.378 3.796
i=1.3

AG,gg = {Z (ai-AGfJ}-moo AH,gg = {Z (ai-AHfJ}-moo

Aa=" (aroq)  Abi= {Z (bi-ai)} Ac:= {Z (Ci'ai)}

Ad = {Z (di-oq)j| Ae:= {Z (eroq)}

2982-Ab 2983-Ac 2984-Ad 2985~Ae
+ 3 + 2 + .

A = Aa-298 +

— AHygg

298”- Ac . 298> Ad . 298" Ae  AHygg — AGygg

Q= (1+1n(298))- Aa + 298-Ab +
3 4 298

R:= 8.314 T:= 550
MA M

1 Ab _ A Ad A A
Ky = exp[—-(Aa-ln(T) N T R L L Qﬂ = 1.47
R 2 6 12 20 T



=0.1

3o

Given

1S
K. =

a 1-¢

(

55-3-¢ 3
45 - 3¢

Find(e) = 0.399

Part (b)

562.0

To=1 332

554.0

root(p,q ,r) = V <

= T QO

X2 «

)

48.9

40.7

X < ponroots(v)
for iel.3

Xj <« 0 if Im(xi) =0
x1 « max(x)

y < min(x)

max(x) if y=0

y otherwise

w:

0.212
-0.216
0.212

15



b= | for iel.3

2
o [1 + [0.37464 + 1.54226 w; — 0.26992(wi)2]-(1 - Tr'ﬂ
|

Pri~0q

2
(™)
|
Pr
Bj < 0.07780- —

Tr.
|

Aj < 0.45724.

pj < -1 + B;
qj < Aj— 2Bj - 3(31)2
ri <~ —A;-Bj + (Bi)z + (Bi>3
Zj < root(pi ,dj, ri>1
Aj zi+(1+/2) 8
<« -In
Va-e | zi+(1-/2)8

o exp(Zi -1- In(Zi - Bi) - G)i)

O;

¢
0.879
¢ =1 1.004
0.862
¢3
Kf = = 0.969
3
b1 (d2)
€ := 0.5
Given
3

KaP” & (s55-3.¢)?
K¢ 1-¢ \ 45~ 3¢

Find(e) = 0.999



